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SeR bE ZAMF , R Z BRI Gk,

°2°op',.(t)z“ =—% (A+nt)p.(DZ" +2 oz'olpn_,(t)Z“+# 3‘°o (n+1)
n= n =g n= n=
pn+|(t)Zn

m& Pzt)= % p®2" , ERRH
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0 0
—P(z,t)=—AP(z,t)—tz—P(z,t)+4zP(z,t)
Jt 0z : \

+llaz (z,t

0 0
BE% ; P(z,t)=¢(1-2z)

5 P P(z,t)—A2(1—z)P(z,t)

d
% t—oo, WAl lim——P(z, )=0 , %A Ba(t> 0FF pa (0= pa »

SRS AR o i P (2, t) TRE P2 o Wit EXAIRMK

d
7Y P(2=pP(2)

P(Z): ce’® -, E%ﬁﬁp(o)z Po » f—%P(Z)= poe"’ s
RERBHE , HZ { e} =p"/n! ,

4 (4
{5 Pa = Do > n=0,1,2’ ......
n!

RS 08N, 8 po={ 2 }-1=e"

n=0 n!

e p"

n!

P = n:O’l,z, ......... ,

e R—7E/NR1 , PoissonD il , L,=E{n} =p,

& Poisson EE A, Poisson #IRBCHREREN , RBERBEG , —RIRB
HAl , REARAZAE =k , k>R, ZAKERA k@ , flma k@
BARTHEZHREEE TARRE o BHEER EEERM | BRIE D AR 28 FKR
B PEELEFNEA o FER/DHFEHM > 0N, B—RE K =
ntth, @in LR ; EE/PNHREH b > 0, B—REAIEE =Reh
Mn>R . —FHm, E—FAKEER= (k—n)lh, nLk ; 1RFKH
B A o, IR IR AR , T4, |

po (t+h)=p, (t) (1—kAh)+p, (t)th {1—(k—1)Ah}, n=0
pa (t+h)=pa(t) {1—(k—n)Ah} (1—nth)+pa,(t) {(k—n+1 )2 h}
{1=(n—1)¢th} +pa+ () {1—(k—n—1 )2 h} {(n+1)¢h}
0 <n<R
pr (t+h)=pp(t){1—(k—R)Ah} {1-R¢h} +pr+,(t) {1— k—(R+1))
2h} {Reth} +pe—, (0{ (k—(R—1)) 2h} {1—(R-1)#¢h}
n=R
pa (t+h)=p.(t){1—(k—n)Ah} {1-RZh}+po, {Ck—n+1)Ah}
{1-R¢th} +pas (0 {1—(k—n—1)Ah} (Rth)
"R<n<4k—1
pe (t+h)=pu(t) (1—Rh) * 14+p,, (t){Ah(1—Rgh)} , n=k
BHE ,Mh—o0 , t oo, A[F
kop, =p, n=0
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{(k—-n)P'Hl}pn=(k—n+1)PPn—n+(n+1)Pn+x‘ 0<n<R
| { (k=n)P+R} pa=(k—n+1)PPa- 1 +Rpa+ 1 RZnZk1
Rpx = PP, n=k
H#E—X, p, =kopo, EB-_AXRAn=1,82p.=(k-1)pop, ,
REFIBERRN Y, (n+1)par, =(k—1n)Ppa , 0 £0<R,
FEm FTE-XT%E Rpa+, = (k-n)pp. , RLn Lk,

= AT A i
(3)0"pPo » 04£n4LR
P = { e
(@ )W po,Rénék
1
o
H — 3’ : o4 » : _n__._ —1
B op={% e+ 2 ) g

RE L= 5 (Rpa=f (a-R)pa— & @RIp.
k R -
= Z npa—{R- 2 (R-n)pa} =L, = (RK)

| B R=RERHERTOTEE= £ (R—)p.

{ FMAEH L. =L, + (R-R)
l Ol FATEt s f9% & Poisson® , T —[E] %5 & Non- Poisson #
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